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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 302 358 399 757
AER1TH 1,036 1,175 1,274 2,449
mAET2TH 1,209 1,062 1,412 2,474
A R ET 2,294 2,351 2,565 4,916
BERT1TH 551 553 602 1,155
B ERT2TH 415 421 463 884
B ERI3TH 317 361 326 687
BEBRT4TH 530 483 525 1,008
B EBRTSTH 828 897 909 1,806
I ER6TH 364 397 426 823
HiF = HT 550 597 645 1,242
45 KHT 470 533 568 1,101
HHT 1,016 1,119 1,244 2,363
BEHT 50 53 56 109
A K BT 628 725 740 1,465
7 HT 432 443 452 895
RICET 463 499 530 1,029
FORHET 203 195 231 426
RFHT 211 211 242 453
KHET 366 342 381 723
KET1TH 238 245 290 535
XKET3TH 291 345 333 678
KET4TH 892 833 1,028 1,861
fit] LLI BT 2,420 2,786 2,890 5,676
JE LT 978 1,103 1,223 2,326
EHERT2TH 305 439 432 871
EHERISTH 433 532 546 1,078
EHERT4TH 395 461 488 949
EHERSTH 339 396 460 856
EAEHET6TH 216 285 272 557
EAERET7TH 167 253 259 512
=Y:i 330 334 386 720
8 [F T 1,552 1,419 1,651 3,070
=i ET 513 550 633 1,183
2l 3t BT 481 590 564 1,154
N =15 101 115 121 236
+HEFRT A 647 655 718 1,373
L EFHTER 855 748 857 1,605
L HAET 1,962 2,173 2,249 4,422
LFH¥ABT1TH 74 122 121 243
LH¥\ET2TH 159 158 180 338




BT 4 HH 5 £ i
LFEI3TH 150 146 175 321
LF#ET4TH 167 184 210 394
LFEISTH 215 270 294 564
I == HT 206 217 240 457
JOSFET1TH 567 537 558 1,095
Mn=rET2TH 539 520 562 1,082
JO=fET3TH 417 436 416 852
M=rET4T H 1,112 1,119 1,135 2254
I S5k T 589 608 661 1,269
I=F5di) 227 215 256 471
At B BT 31 38 39 77
E[d:) 411 356 346 702
fHZaE T 823 940 992 1,932
FHRHET 80 87 97 184
1 2 FF T 329 370 400 770
BEFE1TH 93 120 129 249
BEFE2TH 284 327 335 662
T EHT 131 141 141 282
/N BB T 3,079 3,121 3,308 6,429
1R T 260 291 310 601
YEZF HT 760 744 809 1,553
EXBI1TH 279 258 278 536
=/ LLIHT 219 160 129 289
Hh ek HT 25 25 5 30
T A EHET 10 13 10 23
THHEE1TH 730 682 727 1,409
THHEE2TH 525 565 558 1,123
THHEESTH 819 836 958 1,794
TEHE1TH 188 187 181 368
TEHRI2TH 810 760 878 1,638
TEHRISTH 163 168 184 352
TEHRI4ATH 93 99 110 209
TEHRISTH 219 236 246 482
T HAET 575 608 644 1,252
THET1TH 360 354 374 728
THET2 T H 463 441 489 930
TH¥BISTH 202 198 228 426
THABTATH 153 149 186 335
TH¥BISTH 151 173 189 362
HTAEHET 23 21 8 29
T 193 202 194 396
#8)11 BT 46 46 54 100
KT HT 299 320 345 665

27588



HEZ HH 5 £ i

7B KHT 1,682 1,698 1,855 3,553
FSIED 272 322 319 641
XLAT1TH 848 777 922 1,699
X#ILET2TH 315 345 363 708
X#ILET3TH 151 157 166 323
1 [ BT 47 63 77 140
hHET1TH 370 394 416 810
hHET2TH 466 484 528 1,012
b HET3TH 439 520 518 1,038
aiEld:) 256 243 291 534
th 2 JEHT 222 213 240 453
ch T 126 126 163 289
TR AHT 774 884 879 1,763
At FAET 882 885 1,026 1,911
75 K ERET 784 975 1,012 1,987
75 2 [N HET 1,659 1,839 1,969 3,808
JAHT 801 779 872 1,651
$FHET1TH 524 463 518 981
$FHET2T H 398 391 445 836
¥FHETST B 202 206 230 436
T 165 215 220 435
HET1 T B 385 481 505 986
HET2 T B 348 365 398 763
HET3 T B 356 397 440 837
HET4 T B 121 115 142 257
AN ) 987 1,074 1,121 2,195
J\ EHHT 159 202 198 400
+ A ERT 247 285 319 604
T A HT 1,841 1,894 2,049 3,943
THB1TH 24 22 21 43
T4HB2TH 1470 1,379 1,359 2,738
T4HBI3TH 188 167 167 334
T4RBI4TH 367 309 369 678
T4RB5TH 948 675 963 1,638
T4HBI6TH 608 587 643 1,230
THBI7TH 354 379 417 796
T4HBISTH 387 413 429 842
THRBOTH 398 463 508 971
+4RB13TH 314 354 399 753
AR NBHT 1,969 1,713 1,995 3,708
HARRHET 1,361 1,250 1,237 2,487
HARRK/ERET 292 372 386 758
F AR JEHT 167 173 179 352
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HEZ HH 5 = 5
- WNEL] 135 125 135 260
FH AR hHT 198 221 255 476
FHARAKHET 438 468 500 968
& ARl 324 348 383 731
HARE)IIHT 294 272 307 579
=N ] 108 117 133 250
FH AR JTHT 103 97 108 205
EARERHE 671 575 679 1,254
B K BRHET 385 392 403 795
Edsa] 895 902 1,020 1,922
BEFET1TH 763 733 759 1,492
BEFET2 T H 594 595 677 1,272
BEFEISTH 351 415 421 836
AFTET1TH 422 378 424 802
AIFFRT2T B 601 613 674 1,287
AIFTET3T B 605 695 756 1,451
A HT 182 206 194 400
B LH 229 297 319 616
NEL] 792 778 842 1,620
ERL 745 920 924 1,844
= HHT 1,725 1,918 2,013 3,931
HEXHRET1TH 592 646 677 1,323
HETIRET2TH 522 603 663 1,266
HLAREISTH 300 381 374 755
P fx T 319 368 402 770
mERI1TH 1,161 1,128 1,282 2,410
mERI2TH 830 948 1,058 2,006
FA T 1,345 1,400 1572 2,972
= RITET 530 505 548 1,053
= AHT 350 282 337 619
AR#HT 8 6 4 10
=) 500 568 521 1,089
SHET1TH 717 638 801 1,439
S HET2TH 402 446 467 913
aHEI3TH 851 740 904 1,644
S HET4TH 762 643 838 1,481
E& T 1 1 0 1
J\BRET1TH 208 263 265 528
J\BRET2T B 217 229 228 457
J\BRET3T H 244 292 306 598
1T HT 296 433 415 848
FHeEIBRT1 T H 166 197 208 405
FHREIBRT2TH 304 436 463 899
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HEZ HH 5 £ i
FIEIBISTH 109 178 172 350
EOER1TH 43 67 62 129
EOER2TH 0 0 0 0
FENOERITH 18 16 2 18

Y =N11 88,627 92,132 99847 | 191,979
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